= % 16.036 + 7.6 7 o] ThE A2 o] AYJY7?

@® 160.36 + 76 @ 1.6036 + 0.76
® 1603.6 + 760 01603 6+7.6

® 0.16036 = 0.076

16.036 + 7.6 = 160.36 + 76 ©]1L
@ 1603.6 ~ 7.6 = 16036 + 76 ©]B& o] t}2Uc}
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@ 243+27 © 128+16
© 175+25 ® 22.8+38
> E:
> EE O

~&B

@24.3+27=243+27=9
© 12.8+1.6=128+16 =38
®175+25=175+25=17
®22.8+38=228+38=6




5. o2 % &°] 10 Bt & AL o= AJY7t?

® 20.3+29 @ 3.44-0.43 ® 17.29+1.9
@2.754 +0.27 ® 20+25

B

D203+29=203+29=7
©®344+043=344+-43=8
®17.29+1.9=1729+19=9.1
@ 2.754 + 0.27 = 275.4 + 27 = 10.2
®20+25=200+25=38
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ofH] 2] o] BRI g4kg 0] T 1}O] B 49ke LT W T Q]
BRAE o] BFA19] 80 % gl 5, ob# 2] o] BRAE S <]
w2 9 IR FekAl 2.

=1 Hj

>
> el 258

(78] %ﬂl) 42 % 0.8 = 33.6(kg)
(oFHA] BRA)+ (52 BFA)= 84 + 33.6 = 2.5 (4H)




o= 7oA 3500 UAHE] B AL oA 20% © o]0} ol 1
I gtk ol & o] 79 o elFo] 14000 Yol Uk o]
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= 7h

>
> =l 207

14000 + (3500 x 0.2) = 20 (7H)
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@ AAZR 9] HolE 22.09cm? YUtk @ A <]
7F @ A 9 7t §o] Zolo] 10 ¥ W, @ FAA %
H em? 1A FSHA L.

o, 2
Y

29

N

M2

(14*}7*0@94 Ho])= (g 2] Zel) x (& W] o]

= =
[ Ix[]=2209= &z 55 F3A 2 097} Lpetof stz
[ =479y
@] AR O] 7F O] Zo] 1 47x10 =47
@2 A ] Hol & 47 x 47 = 2209(cm?)

(BAZE8 ) Hol)= (@ Me] ol) x (3 We| Ao]jolnz
g el Zolzt 108 AX A, Heoli 1004 ARk,

wr2bA 22,09 x 100 = 2209 (cm?) YUYt}




